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Let find the length of one side of the equilateral triangle. = : #9H 4%  Author - Murase Yoshimasu
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& 53;_ 384 i‘%ﬁ%  Pythagorean theorem % Unit is Shaku.

‘}L}A? &) Eaz:é_g ze] - Similar figures When Z ACD is of the diameter angle of

circumference and DC=0.5
By pythagorean theorem
(0.5)2+AC%=1
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The modern translation & mathematical contents

it . AC?=0.75
I_gf L}@'%%Zjﬂ T A AC=0.866025403/84439
e AC=0.866

DC=05ROE. =FHDTEELY.
0.5R?% + AC?= 1R2
AC’=1R* — 0.5R?
AC*=0.75R
AC>04kY . AC=0.866025403784439
£>T.AC=0,866 R CHB,

ACIE. 85696, CNAERIROAIZHET A E=AFD1LINDEITHS.

WEGIIIRTHA,

Q1IN EESANTROEAFHDOTALE14142REZE (2T 5,
1.4142=-2=0.7071---D

Ak LY. D%0.866TH 5,
0.7071-0.866=0.8165127---2)

OAADFIZIEE=AKENL, QFEIEAFOXTAIFE14142Mh 55|,

ShIZTHERITT S,
(1.4142-0.8165127)=2=0.29884365---3)

O ABCDA AACHENG ., QZFIEAFD X ATE1.4142ThH 5,
0.29884365~1.4142=0.21131640---@

@ ABCDA AACHELHDT.BC=BD=M5. @EFEHFRD1500-
THH1RMHEIL, @By /\BCDv» A\ ACH.
1—0.21131640=0.7886836---®) Draw a line H the ZAHE will be 90°

O AABDAAACELY, QB THBHEZZANH S, (3)+—+/2=0.211364

AiGld:IEEAﬁ ﬁz—c@%:g @By A\BCD AACH. BC=BD
A AABDLAACETZAD, 1-0.211364=0.7886836

AC=0,866,that is length of AABC's side.

v¢The equilateral triangle into the equilateral square.
1.the equilateral square 2.the equilateral triangle

@ 1o double the square along its diagonally.
This line’s half is 0.7071(1.4142 = 2=0.7071).

@By * . 0.7071 + 0.866(height of the equilateral
triangle)

—0.8165127
AAEGL AADF so AADF is equilateral triangle.

@By /\ADF is a equilateral triangle.Made to be half of

(2) to derive HD,
HD from HC draw a line to derive CD
Divide DF in half (HD)
0.5-0.40824438=0.09175562
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H AAEGIZIE=ZAKEIS.
AE=EG &£->T.EG=1.03528551

©: 1;5255@ ®By /A ABDx AACE@divicle by B.
=0.8165127-+0.7886836 The answer is given.
=1.03528551 Because AABD is similar to AACE.
AE=1.03528557C, Thus upper sentence, ®): 1 =2):AE

Therefore 0.7886836:1=0.8165127:AE

AE=1.03528551
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The summary * task seen * impression

KED
DODEETIE, 112V3DERZRE, ZDOTIE HLUZEFE-ST We learn the definition of 1:2:Vv3 in first question. And researched the length

summary

IE=ARED1IAZERDT=, of the equilateral line in second question.
R Impression
PO THEZRCO>THT. BESDHENETHUTWSLGEE ST,

= ZR A0 [X ﬁ,%{’ﬁé_tf)\;ﬁl_,i)\gf_(-}'& MOETIHEALTSER TS We challenged Wasan first time,wethought 1t 1s similer to ancient
CEMNTETENO-, S E. NEEZBRIZRELACENTE-DT. £ Japanese math and present Japanese math. We are satisflied with

== NHoT=H. HEEJZL'CHT‘L\E&,L,\OT:O all of group members can cooperate to finish.
7'7%@5%5‘3_5

HERTHDICHBEBTELI-DOT.,. BE=HZELoEDI01452EE. B E
DIEFEZEL O ERDLH, Ff-. HFICKUIEBDHYPRTL, 7
5EDZ9 5,

task seen

PNy This time,we can feel Wasan closely, so we thought we will challenge
%  one more time if we get opportunity we were stricken with translate

into English, we have to get vocabulary skill and understand more

deeply. Also we should make an etfort more clearly, more plain.
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